
Problem Set 3 #1-10​ KEY 
 

1  
pH = 13.6 

 

2  
pH = 13.9 

 
3  

a) pH = 13 

b) pH = 14.3 

c) pH = 7 (trick question again!)  

4  
[Sr(OH)2] = 1.58x10-4M 

 
5  

 
 

6  
a) NH3 
 
b) NH3 
 
c) OH-1 

 
d) CH3NH2 
 

 

7  

pH = 12.4 

 
8  

a)  
 
[OH-1] = 0.00894 M 
 
[H+1] = 1.12x10-12 M 
 
pH = 11.95 
 
b)  
 
[OH-1] = 4.69x10-5 M 

 

https://docs.google.com/document/d/1XuHFL8Jy01PowqrK_d9KU9yPTvacZhaFTR-HeBAyBs8/edit#bookmark=id.3znysh7


 
[H+1] = 2.13x10-10 M 
 
pH = 9.67 
 

9  
Kb = 9.11x10-7 

 
10  

[B] = 0.0135 M 

 
 
 


